

12509

Q2 Page 01

Q3

$$\lim_{(x,y) \rightarrow (0,0)} \frac{xy}{\sqrt{x^2+xy}}$$

Sol:

$$\lim_{(x,0)} = \frac{x(0)}{\sqrt{x^2+0^2}}$$

$$\lim_{(x,0)} = \frac{x}{\sqrt{x^2}} = \frac{x}{x} = 1$$

Now

$$\lim_{(0,y)} = \frac{0y}{\sqrt{0^2+y^2}}$$

$$\lim_{(0,y)} = \frac{y}{\sqrt{y^2}} = \frac{y}{y} = 1$$

12509  
page #02

Q2

Q2

$$f(x, y) = \begin{cases} \frac{\sin(x^2 + y^2)}{x^2 + y^2} & \text{if } (x, y) \neq (0, 0) \\ 1 & \text{if } (x, y) = (0, 0) \end{cases}$$

Substitution:

$$\text{Find } \lim_{(x, y) \rightarrow (0, 0)} \frac{\sin(x^2 + y^2)}{x^2 + y^2}$$

$$x = r \cos \theta$$

$$y = r \sin \theta$$

$$r^2 = x^2 + y^2$$

as  $(x, y) \rightarrow (0, 0)$

$$r \rightarrow 0$$

$$\lim_{r \rightarrow 0} \frac{\sin(r^2)}{r^2}$$

$$\sin(0) = 0$$

$$\text{L.H.S.} = \lim_{r \rightarrow 0} \frac{\cos(r^2) \cdot 2r}{2r}$$

$$2 \lim_{r \rightarrow 0} \cos(r^2) = \cos(0)$$

$$= 1$$

Q2

Function  $f(x, y) = e^x \sin y + e^y \cos x$   
~~Integration~~

sol:

$$f(x, y) = e^x \sin y + e^y \cos x$$

$$\frac{\partial f(x, y)}{\partial y} = e^x \sin y + e^y \cos x$$

$$\frac{\partial f}{\partial y} = e^x (x \sin y + e^y \cos x)$$

$$\frac{\partial f(x, y)}{\partial y} = \sin y e^x (1) + e^y (-\sin x)$$

$$\frac{\partial f(x, y)}{\partial x} = e^x \sin y - e^y \sin x$$

$$\frac{\partial^2 f(x, y)}{\partial x^2} = e^x (1) \sin y - e^y \cos x (1)$$

$$\frac{\partial^2 f(x, y)}{\partial x^2} = e^x \sin y - e^y \cos x \quad \text{--- (1)}$$

Q3 page #034

$$\frac{d f(x, y)}{dy} = \frac{\partial}{\partial y} (e^x \sin y + e^y \cos x)$$

$$\frac{\partial f(x, y)}{\partial y} = e^x (\cos y)(1) + e^y (1) \cos x$$

$$\frac{\partial f(x, y)}{\partial y} = e^x \cos y + e^y \cos x$$

$$\frac{\partial^2 f(x, y)}{\partial y^2} = e^x (-\sin y)(1) + e^y (1) \cos x$$

$$\frac{\partial^2 f(x, y)}{\partial y^2} = -e^x \sin y + e^y \cos x \quad \text{--- (ii)}$$

Laplace eqn  $\frac{\partial^2 f(x, y)}{\partial x^2} + \frac{\partial^2 f(x, y)}{\partial y^2} = 0$

$$\cancel{e^x \sin y} - \cancel{e^y \cos x} + \cancel{e^x \sin y} - \cancel{e^y \cos x} = 0$$

$$0 = 0$$

12 Sem

Page # 05

Q4

Q4  $a = i + 2j - k$   $b = -2i + 3k$ ,  $c = 7j - 4k$

Find  $a \cdot (b \times c)$

Solution

$$a \cdot (b \times c) = \begin{vmatrix} 1 & 2 & -1 \\ -2 & 0 & 3 \\ 0 & 7 & -4 \end{vmatrix}$$

$$= 2 [0 \times -4 - 7 \times 3] - 2 [-2 \times -4 - 3 \times 0]$$

$$- 1 (0 \times 0 - (-2)(7))$$

$$= 2(-21) - 2(-8) - 1(14)$$

$$= -21 + 16 - 14$$

$$= -35 + 16$$

$$= -19$$

~~$a \cdot (b \times c) = -19$~~

12509  
Page 406

Q 5

$$4x^2 - y^2 - 3z^2 = 10 \quad P(2, -3, 1)$$

Solution:-

$$4x^2 - y^2 - 3z^2 = 10$$

$$F(x, y, z) = 4x^2 - y^2 - 3z^2 - 10$$

$$\Delta f = 8x\mathbf{i} - 2y\mathbf{j} - 6z\mathbf{k} = 10$$

$$P_0(2, -3, 1)$$

$$\Delta f = (2, -3, 1) = 16\mathbf{i} + 6\mathbf{j} - 6\mathbf{k}$$

tangent plane on point  $P_0$ .

$$16(x-2) + 6(y+3) - 6(z-1) = 10$$

Normal line

$$x = 1 + 2t$$

$$y = 2 + 4t$$

$$z = 4 + 4t$$